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Que 1.In Fig. 5.6, if 𝑨𝑪 = 𝑩𝑫, THEN PROVE THAT 𝑨𝑩 = 𝑪𝑫. 

                          

Sol. 𝐴𝐶 = 𝐵𝐷  (Given)    …(𝑖) 

 𝐴𝐶 = 𝐴𝐵 + 𝐵𝐶  (Point B lies between A and C) …(𝑖𝑖) 

 𝐵𝐷 = 𝐵𝐶 + 𝐶𝐷  (Point C lies between B and D) …(𝑖𝑖𝑖) 

Substituting (𝑖𝑖) and (𝑖𝑖𝑖) in (𝑖), we get 

 𝐴𝐵 + 𝐵𝐶 = 𝐵𝐶 + 𝐶𝐷 

According to Euclid’s third axiom, if equals are subtracted from equals, the remainders 

are equal. 

So, 𝐴𝐵 = 𝐶𝐷  (Subtracting 𝐵𝐶 from both sides) 

Que 2. In Fig. 5.7, 𝑨𝑪 = 𝑿𝑫, 𝑪 is the mid-point of  𝑨𝑩 and 𝑫 is the mid-point of 𝑿𝒀. 

Using a Euclid’s axiom, show that 𝑨𝑩 = 𝑿𝒀. 

                           

Sol. 𝐴𝐵 = 2𝐴𝐶 (C is the mid-point of 𝐴𝐵) 

 𝑋𝑌 = 2𝑋𝐷 (𝐷 is the mid-point of 𝑋𝑌) 

Also 𝐴𝐶 = 𝑋𝐷  (Given) 

Therefore, 𝐴𝐵 = 𝑋𝑌, because things which are double of the same things are equal to 

one another. 

 



Que 3. In the Fig. 5.8, if ∠𝟏 = ∠𝟑, ∠𝟐 = ∠𝟒 and ∠𝟑 = ∠𝟒, write the relation between 

∠𝟏 and ∠𝟐, using a Euclid’s axiom. 

                             

Sol. Here ∠3 = ∠4, ∠1 = ∠3 

 And ∠2 = ∠4 

According to Euclid’s first axiom, the things which are equal to equal things are equal to 

one another. 

Therefore, ∠1 = ∠2 

 

 


